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Math112: #1 A/B

P N

1. Suppose two mooncities have the same longitude and their latitudesare 37° and 54°
Assuming the radius ofthemoonis 1,737 k. Find the distance between the two
cities as measured along the surface ofthemoon. State the exact answ er, then givea
decimal answer rounded tqfoTT decimal places.
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2. Supposetwo cities have the same longitude and their latitudes are 45°48'
(Scappoose) and 65°12' (GreatBear Lake). Assuming theradiusofthe Earth is
3.955 miles, find the distance between the two cities as measured along the surface of
the Earth. State the exact answer, then give a decimal answer rounded to two decimal
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Math112: #2 A/B

1. SupposeDr. Evil’s spaceship is in lunarsynchronous orbit around the Moon. It
remains above the same pointon the moon’sequatorabout 88.000km abovethe
surface. Assumingtheradiusofthemoonis 1.737 km. Find the following. Statethe
exact answer, then give a decimal answer rounded to #w® decimal places.

. &
“a. Theangularspeed of the spaceship in radians perhour. (A moon day,the length of
time it takes the moonto spin around its axis is about 27 days-asidereal day).

a\nﬁdu s;;&w: (D = %’

— _ R
1333 / te0 R 273\
' =1L - U rediag
/ AR b pa
) L = 0.0097F redicss
T at re 6‘/M\Mr

b. Thelinear speed ofthe spaceship in kilometers per hour.
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2. Find the distance thatthe earth travels in one day in its path around the sun. Assume
thatayearhas 365 daysand thatthe pathof theearth around the sunis acircle of
radius of 93 million miles. Statethe exact answer, then givea decimal answer

roundedto two decimal places. 4 £{md\ the | lineexr s
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Math112: #3 A/B

1. Anirrigation system uses a straight sprinkler pipe 300fflong that pivotsaround a
central point. Due to an obstacle the pipe only pivots 240°.

a. Find the area irrigated by this system.
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b. How fast will the sprinklerneed to turn to irrigate 100,000 square feet in an hour?
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c. How fastwill the sprinklerneed to turn to irrigate one square mile in an hour?
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2. A windshield wiper fixed to awindow is 40cm long. Assume thereis no gap between
the pivot pointand the wiper. What angular speed is necessary for the wiper to clear
300cm? per second?
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